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700
700
301 YLerP A 1,400 1,652 252
700
700
10 #ALAH 243 1,400 1,652 N252
OSEXNENSS NSS4 7,0002 +200% 1,400
700
700
HR=I2Rg(BX 14,000 0 14,000
7,000
7,000
201 Yt 14,000 0 14,000
7,000

7,000




SN SIlEHEH
HE: 50 SELHNA(SYHLLM/5Y - 5E)
ool MRsellE XTI X4 (el &2
_ _ HE T
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 il b o B2
01 At 2r2lb| 14,000 0 14,000
O1.gBr+84H| 14,000
~SASHEDS DM A 56008 2,505 14,000
= 7,000
Al 7,000
SXUBENH HOIZYINA(2X) 50,000 50,000 0
=l 25,000
Al 25,000
307 Q1201 5,000 0 5,000
3 2,500
Al 2,500
02 QIAANBE 5,000 0 5,000
OsXLSAMNM HOIFY 22 2A4E
5,000,0002 174 2 5,000
=l 2,500
Al 2,500
402 BIAT 20| 45,000 50,000 A5,000
3 22,500
Al 22,500
01 pIZXEEE 45,000 50,000 5,000
OsXARNL HOIFY 22
45,000, 0002 * 174 4 45,000
3 22,500
Al 22,500
SEXSBY (BX) 60,000 35,000 25,000
3 30,000
Al 30,000
405 THAHF S 60,000 35,000 25,000
3 30,000
Al 30,000
01 RHAUSEH S| 60,000 35,000 25,000
OsgolugE Ma 200,000 *507H 10,000
3 5,000
Al 5,000
O=gonRE 9N 100,000 * 1507 15,000
=l 7,500
Al 7,500
Os=XTE COXYotHet  450,0008 «20H 900
3 450
Al 450
OSZXEE 01S2M0M013 410,000 10CH 4,100
3 2,050
Al 2,050
OsaTeIA BY 7Y 5,000, 00024 *6CH 30,000
3 15,000
Al 15,000
CAME =AY (2E) 49,900 50,000 A100




SN SYIIEHE
HE: 50 SELHNA(SYHLLM/5Y - 5E)
ool MRsellE XTI X4 (sl &2
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 Sl ko HRs2
= 25,000
Al 24,900
201 LetEIH| 10,000 15,000 25,000
= 5,000
Al 5,000
01 AFR22lH| 10,000 15,000 25,000
O1.get=ZH| 6,000
~CAIME S OFIIEI0l R A
1,000 *60HHI O] XI * 100 6,000
= 3,000
Al 3,000
03.2g+g 4,000
~CAME S OIHIDl SAAY 4,000
SR 200, 0002 *83] 1,600
= 800
Al 800
T U BEZAL 100, 0002 *3A| 2+*83] 2,400
= 1,200
Al 1,200
206 M=l 36,700 20,000 16,700
= 18,350
Al 18,350
01 M=Hl 36,700 20,000 16,700
OCAME=Y AUZZDE W2
200, 0002 *40J x25 16,000
2 8,000
Al 8,000
OSAME=Y S2DS WE
86,2503 x65 *402 20,700
= 10,350
Al 10,350
301 YptEaazg 3,200 0 3,200
= 1,650
Al 1,550
10 EALAHIEA S 3,200 0 3,200
OZAME= 0HH0 DS 24
7,000& *40H 83| 2,240
= 1,170
Al 1,070
OSAIME S 0F3HHI0I 2AHSA O b
60, 00021 883 x22l 960
= 480
Al 480
SEMEXNIUE/KI(ER) 100,000 100,000 0
= 50,000
Al 50,000
201 LBt 3| 10,100 20,000 29,900
= 5,050




SN SIlEHEH
A 59 SEUNNA(SYHYSN/5Y - 55)
ool MRsellE NEIIE £4 (e @
_ _ _ N E
S EHB .S (BH) - HRAIY - B2 Of) A o4 o HDZS2
A 5,050
01 At 2relb| 10,100 20,000 9,900
O1.ggr=gH| 10,100
~=MAESE oRI0I8 A3 M
1,010,000 %1074 & 10,100
3 5,050
Al 5,050
301 LPB A 4,900 10,000 A5,100
=l 2,450
Al 2,450
10 BAHAHIE A2 4,900 10,000 A5, 100
OSZ2ZAP5R W0 ofbl
60,0002 *50% 3,000
=l 1,500
Al 1,500
OS=RNCK LHTS Obl
60,0002 *20% 1,200
=l 600
Al 600
OSZ2Z0BIE0 0 24
7,0002 *50% *23] 700
3 350
Al 350
307 212+0IH 85,000 0 85,000
=l 42,500
Al 42,500
CIEIE RS 40,000 0 40,000
OsMHEss Z208 29
40,000,000 *14! 40,000
=l 20,000
Al 20,000
05 DI2tSIErD 45,000 0 45,000
OSZZTOIIEID ASUE Y TS
ot 45,000,000 45,000
=l 22,500
Al 22,500
SERIVELETEES 30,000 0 30,000
= 15,000
Al 15,000
101 o121l 7,630 0 7,630
= 3,815
Al 3,815
04 JIAHIZXS 4 7,630 0 7,630
OSQITfst BX 1Y 34,4002 %1% %2002 6,880
=2 3,440
Al 3,440
O4UEE JlBe2 6,880, 0002 *10. 9% 750
= 375




SN SIlEHEH
HE: 50 SELHNA(SYHLLM/5Y - 5E)
ool MRsellE XTI X4 (el &2
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
A 375
201 Ygreg| 8,450 0 8,450
= 4,225
Al 4,225
01 Attt 8,450 0 8,450
O1. Yor+8H| 4,850
~=ooItNE B DUAE 18,0002 1005 1,800
= 900
Al 900
—soItyE SO R 2,5002 1002 250
= 125
Al 125
~sololtiE I ¥nR
10,0002 *280T 0| X| 2,800
= 1,400
Al 1,400
03.294Y 3,600
~s oIt ALY 20,0002 * 183l 3,600
= 1,800
Al 1,800
301 LPBAI 13,920 0 13,920
= 6,960
Al 6,960
10 BAAHIBAS 13,920 0 3,920
OsoIls SESH HI0Z ot
60,0002l %402 43| 9,600
= 4,800
Al 4,800
Osolths DS SA 7,000 +40% 93] 2,520
= 1,260
Al 1,260
OS0ITHe: SIHA Ol 60,0002 +30% 1,800
= 900
Al 900
SASIHBIISAE(RE) 10,000 0 10,000
= 5,000
Al 5,000
402 Q12X 0| F 10,000 0 10,000
= 5,000
Al 5,000
01 BIZTEEE 10,000 0 10,000
OSZEHEE DILDIYE HEIIE A
10,000, 0002 *17H 4 10,000
= 5,000
Al 5,000
SEAYBLUISTL(2X) 50,000 0 50,000
=l 25,000




2N sgII=HH
Y =9 SELANA(SEHSSM/SY - 5E)
tel dEsglls NEDig =4 (el &)
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
Al 25,000
307 QI12t0I & 10,000 0 10,000
= 5,000
Al 5,000
02 2ItAASE X 10,000 0 10,000
OSZAYFA0IE +2E20Y 29
10,000, 000& *1JH 2~ 10,000
= 5,000
Al 5,000
402 SI2H 201 40,000 0 40,000
= 20,000
Al 20,000
01 GBIt EEX 40,000 0 40,000
OsEd2&==0t= 4 40,000,000 =174 £ 40,000
2 20,000
Al 20,000
HY2HZH (=LII=HE)(JIEH/IIE 315,881 292,676 23,205
lH2AH (s I=HH) 116,447 111,342 5,105
FAME 2 116,447 111,342 5,105
101 Q14| 104,047 98,842 5,205
03 RIIHAZZ N2 = 104,047 98,842 5,205
OsJIH=el 22 59,551
-Jl2g 46,000 x2H +313 28,796
-a0= 1,199, 8403 »2H «300% 7,200
-2 & S0l 1,199, 8403 »2EH «120% 2,880
-wES2 x| 30,0003 x2EH*12& 720
-JHH 2 =] 50,000 x2H 128 1,200
- g Al 80,000 x2H 128 1,920
-ESE 80,000& x2H x12& 1,920
-AXt=E 46,0003 x2H «21 1,932
=5 46,0003 x2H «52 4,784
“AIZH R 2R E 8,630 »2H «22A| 2Fx 12 4,557
=) = 46,0003 «2 B« + 128 «50% 3,312
-2 130,000& «2H 260
—-QtM o} 35,000& 23X 70
O&A22] 212 20,322
-Jlzas 29,0103 12313 9,081
G 756,680& * 1 *300% 2,271
-HEF I 756,680 1 «120% 909
-Es2 2| 30,000 x1H«12& 360
-JtH 2 2| 50,0003 x1E«12& 600
-EE 80,0003 x1H«12& 960
-AXt=g 29,0103 »1H 23 668
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A SelEME
Y HH2HAH (LI I=HE)(IIEH/IIEH
e QlH A (sHI|I=HH) (ctel: &
A BB O(B) - NEAY - BAS Of o e Hl R =2
=54 29,0103 x1H +52 1,509
-Z MG A 80,0003 x1H+12& 960
-2t 2R 5,440 1B «22 A 2tx 123 1,437
-2t 3 29,0103 »1H *0U » 12 x50% 1,567
Os% &g 2eeE 24,174
-JlEa 38,630& x1H 313 12,092
-& 3 1,007,600& 1 *300% 3,023
-EEFH| 1,007,600& =1 x120% 1,210
-uWEsE A 30,0003 x1E*12& 360
-JHHI 2 = HI 50,0003 x1E*12& 600
—Z Uz A 80,0003 x1H«12& 960
-IEY 60,0003 x1H~12& 720
ERGPNESI=S 38,6303 *x1Hx17 657
=5 38,6303 x 1 +52 2,009
-ANz2tel2f=¢ 7,250« 122 A1 2tx 123 1,914
25013 38,6303 x1H »2 122 «50% 464
-&e s 130,000 *1Y 130
—ot& ot 35,000&x1H 35
203 HRF&Y| 12,400 12,500 A 100
01 J|22IHRF&HI 3,300 3,300 0
OJ|22ZH2FXH(AF) 3,300,000 3,300
02 HRANMBRFEH| 1,840 1,880 A40
OF A H R FAH| 40,000 46 1,840
04 BEARIZRFEHI 7,260 7,320 AB0
ORN2IHRF&HI 7,260
-sEXE I (HR:31Y) 4,260
e 350,000& x12& 4,200
=1 5,000& x1H«12& 60
=23 (E3:15Y) 250,000& = 12& 3,000
JI2Zbl(sglla4dH) 199,434 181,334 18,100
FN2ZHI 73,674 64,694 8,980
201 LBt H| 73,674 64,694 8,980
01 AFR 22| 71,370 62,390 8,980
O1. g Et==ZH| 38,320
-s&X & 9,270
N2 LBt=EH| 4,670,000& 4,670
FA2ZE HMALZEH| 4,600,000& 4,600
=220 6,550
TERENMEY ditZH| 3,550,000& 3,550
TEME2YE MMAEEH 3,000,000 3,000

_20_




SN
X XH .
S Tt

el

B . o9 AR - HAS sl e HlRE2
=R |
100,000& «1500 2+ 123 18,000
-S54y ZHl 300,000 *15JH & 4,500
03.238=* 23,850
—=X 50,0003 12 *365& 18,250
R 50,0003 1= *112 5,600
O5.2&Hl 9,200
-2FA2E S| 9,200
sEX& 6,200, 000& 6,200
Jl=Ez=u 3,000,000& 3,000
02 2323l 2,304 2,304 0
O1.2323<LHA 2,304
-RN2E 22 2,304
sEX& 1,536,000& 1,536
Jl=Ez=u 768,000& 768
&bl 125,760 116,640 9,120
(Nl 125,760 116,640 9,120
=AY 73,920 64,800 9,120
O=2d 20,0003 28H 11 *12& 73,920
02 MO 51,840 51,840 0
SHaEA X ER ] 51,840
-#Ne e, =& A EX, St
=) 330,000& 6H ~12& 23,760
-J|Et 260,000& 9 123 28,080
=9 Iz (=Y L =5E) 3,885,651 1,793,220 2,002,431
= 806,529
= 154,000
& 250,400
= 40,000
w 5,160
Al 2,629,562
S 1,385,411 1,200,254 185, 157
w 5,160
Al 1,380,251
Bll=Es 418,751 375,525 43,226
oI24d| 7,630 2,200 5,430
JIZtNZ2Z2ASE = 7,630 2,200 5,430
OH 8o 2,289
-1 34,400 x5 H 122 2,064
-4 E 2,064,000% *10.9% 225
(@)==p=ties 5,341
-1y 34,4003 x2H +702 4,816
-4 4,816,000 *10.9% 525
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SN SeIlEMEH
HE: 50 )22 (SYRYLM/5Y - 5E)
SRl SEFW FY ISAH (el & 2
_ _ HE T
SN EB -GS - MBAY - BES 0 & 24 e HRE2
201 Yer2 YY) 3,200 2,300 900
01 At 2ty 2,300 2,300 0
O1.2e+84H| 900
-H2EHY ZSEIINE S0 900021002 900
O5. 22| 1,400
“MIIEE2 FE ORIZRT 34
7,0002! *42 52 +103] 1,400
02 IZ2Y| 900 0 900
O3. Al IR X 900
~AEA SAIITH RAHl 450,000 <2CH 900
202 01t 5,400 5,400 0
01 2UH0iHl 5,400 5,400 0
OMIIz 23 2 stz MOIL &4 oftl
60, 00021 52 x32 x63] 5,400
206 T2 1,840 10,000 1,840
01 HEt| 11,840 10,000 1,840
OSLYHE DALMY
400,000 * 10na*13| 4,000
OBsAt =SB AEHE2 1,140
~=SAIE 130, 0002 *42 %204 £ 1,040
onkF:] 25, 00021 244 204 2 100
OBisAt ZEXH BEHE W2 5,000
-E Xt 2,000 *1,000kg 2,000
59 15,0002 *200% 3,000
OXSTCA 2YWE 7Y 20,0008 155 300
OZSAFA A% U W2 100,008 145 1,400
301 LBAI 7,950 4,440 3,510
10 BAEI 243 7,950 4,440 3,510
OMZHE BItal 34 7,0002 %150 1,050
ORSISAALAY BII5| SA
7,00021 %1502 1,050
ORSASY HESZHT 01|
60,0002 x40 %221 4,800
O&H ASCHH REZ4A  7,0002%150% 1,050
402 QIR 20IH 378,731 351,185 27,546
01 pIZTEEE 378,731 351, 185 27,546
OR&Y 2= BHOS ¥ (UK X4
1,000,000 *350ha*70/100 245,000
OREZ S42 SUC T M
1,30021 %105 *5,00024 %70/ 100 45,500
ORSISHAH AYSX £4 31,696
-HZEE 230l EIf
6, 0002 *50kg*40hax70/100 8,400

_22_




SN SYIISHE
M =9 )23 (SUNLS/5Y - &)
Tl SEZM FA J|EAY (et @e)
_ HET =
SN EHHMS(BA) - MRAD - BES Ofl & o8 0Ol At o8 HnE2
EYNSH L DB X
208, 000! *4Z *40hax70/ 100 23,296
OLsEZ SFAX 08I £33
2,650,000 *10CH*50/ 100 13,250
OHMSLM HMZOD 23 43,285
-600kgE 1,430,000& *33CH*50/100 23,595
-400kgE 1,474,000 *8CH x50/ 100 5,896
-300kg= 1,254,000 »22CH 50/ 100 13,794
405 Xt&bE SHI 4,000 0 4,000
01 MM =SFSHI 4,000 0 4,000
Ogsk 58J| #¢ 2,000,000 »2CH 4,000
A2SH=Z JlsEs 539,486 408,565 130,921
201 LEt=EH| 1,050 0 1,050
01 A2l 1,050 0 1,050
O1.¢e-=2H| 1,050
~ASES OFRI22K 24
7,000 +3F x5 102/ 1,050
206 M=l 2,000 2,000 0
01 M2 2,000 2,000 0
O+ BIized HE7Y
50,000& * 105404 2= 2,000
301 LetEH = 4,940 3,800 1,140
10 BAIAHI 2 A3 4,940 3,800 1,140
OASHESAY W] AL SA
7,000 «20H *10% = 1,400
OASHESL0 50 NKOH|
60,0003 20 1,200
OO0rM3loI P3| REHAIS Z4
7,000& *60H »23] 840
OOFM st 3| BEXE A5t0iH
60,0008 x25% 1,500
402 2Iz2tt=01d 531,496 402,765 128,731
01 2IEXEE X 531,496 402,765 128,731
OSMEE SEEE XS HAY
5,000, 000& *Sha*70/ 100 31,500
OABX IS
1,500, 0002 *14JH 270/ 100 14,700
OsXg d&2x (Al 42,000
S RLE=-p 4,000, 00021 * 150§ %70/ 100 42,000
ORFARIGH HHES E0IE MHIEX =4
9,000,000 x2& *2ha*70/100 25,200
O & CPKLSHIZ MZEAY
800, 000& »60hax70/100 33,600
OFEESSHE AT)| MAAY 35,000
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SH: ST SHE
Hu: =9 2RI (SHALSM/5Y - 5E)
Eel: SEZHY gy JlsAY (ctel: &
B R(B) - MEAY - BES sk e 2
“EI CIRROl R
10,000, 0002 *141%70/100 7,000
AN OME 800 *50,0000H %70/ 100 28,000
OS0l2 oHSA=X B33t AlEH 13,188
-2 T 300:& x50,00001*70/100 10,500
-SAIL O =X 3,840,000 *tha*70/100 2,688
ODnAS Y U2 AZTHEE AlY
21,000& *1,600m x70/100 23,520
OMASH= BEMH Al 8,190
-5k 65,000 x140& Xl +70/100 6,370
~E AT 1, 3002 %2, 00004 %70/100 1,820
OJlsd ZSs AL MAAIY 29,400
_EgaEs 2ele SR
8,000& *60XE *50ha*70/100 16,800
PN EE 0I2BZ SR
15,0003 *8& *x50ha*33] *70/100 12,600
OAtD 8FOHE Al
4,170,000% *10ha*70/100 29,190
Ol ZA84 HHALY 75,600
-st=2 80,0002 *8002H*70/100 44,800
-9y 60,000& *400=**70/100 16,800
-=2JI 1,000,000 *20CH 70/ 100 14,000
OdlE &SR MAAIE SUHEAY
24,040,000 *141%70/100 16,828
OOHEAIOF ESHE AUt A AlH 63,700
-CEMEMER  7,7002 x2070 +100ha*70/100 10,780
“ e HEHEN
3,300 *20JH 23! *100ha*70/ 100 9,240
- & XA 39,000& 16 *100ha*70/100 43,680
OOt =E TIHEX CHEALY
8,000& *5,000m*70/100 28,000
ODUX AU ZEANL
50,000,000& * tha*70/100 35,000
O OrHXF I ol & X CHZH
400,000 *50ha*70/100 14,000
O&FIIMED H=2Z AL 12,880
-I= 72,0002 *20& *10ha*70/100 10,080
-DEE 40,0002 * 108 A *10ha*70/100 2,800
sgZdEA JlsEs 181,250 125,583 55,667
jellall=] 15,260 16,133 AB73
JIZtMZ2HEE 15,260 16,133 AB73
OMBHZH 0% 15,260
-1 34,4003 »2EH 2002 13,760
-AEE JI22E3 13,760,000& *10.9% 1,500
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2A: sgIls=4dH
A 5 VB3 (sHMllYSM /s - 55)
e SEZYHY A Jl=AY (ctel &
_ _ MNUEE
SM-BH-H2A(FAH) - MIRAY - BES Ol & 'oﬂ/'\_FOH HusZ
201 2EtE3| 2,340 2,370 A30
01 AtR22lH| 840 1,470 A630
O5.= &l 840
-SHEAYGEN J2E3 0I2U2RA 24
7,0003 x2H +x52 x123] 840
02 =323l 1,500 900 600
O3. Al & &l = Xl H| 1,500
-AlEA 2AI|XH S XH| 300, 0003 =5CH 1,500
202 044l 4,800 4,800 0
01 =20 4,800 4,800 0
SYIGEA J=ns AN
60,0003 x5 »2 )} & x83| 4,800
206 MZ 4l 31,000 12,400 18,600
01 M=l 31,000 12,400 18,600
OJI=2gata 29 a7 31,000
—MIH MAE BHX 100, 000& *3Z *70kg 21,000
—MEAlSE 2 THE 100,000& *25F 43| 10,000
301 LeEtE2 A3 350 960 A610
10 BAIAHIBAS 350 960 A610
OMdZHOIE Aasgel s FAL 24
7,000& *50H 350
307 212t01 & 9,000 9,000 0
02 CIZtAAMEX 9,000 9,000 0
ORStsMESE HHEE 2| 9,000,000& 9,000
402 QI2EX=0IA 108,500 66,920 41,580
01 QI2t 28X 108,500 66,920 41,580
OMZN LEAIZ SHAIE
5,000,000& *15CH*70/100 52,500
OO0IELIE A 2tED] AlHY
10,000, 000& *4JH 2~ +70/100 28,000
OMESHMASY NsLE ML EZ
8,000 *1,0009H*70/100 5,600
OTMRAIZ 20 XS3H AlY
8,500,0002 *1CH*70/100 5,950
OAMOIHHREHT3 SSUAH At 16,450
~TAM 1,300& *15,000JH *70/100 13,650
Xl =2 1,000,000 *4JH 2~ *70/100 2,800
405 KtatFE S 10,000 13,000 A 3,000
01 A& ESEHSHI 10,000 13,000 /3,000
OMdZH AEEY 7 5,000,000& *25& 10,000
sg8J|s HeEz3 245,924 290,581 N44,657
ml 5,160

_25_




oF
R’

ok
o]

Lo Y] N~ Lo Al
(0] (o)} (a2} Yo} [e 0]
= - © [ N~
-+ — — — o —
n0 — — INE Re¥ 4
Ko < q <4<
E
e
o [ep) (ep) Y] [ee)
N~ N~ Yo} (e8] pay
I 0 SRS o
< < o | = <
(e} O N~ L0 [aV)
uiled!
RI=
< o0 O O [ee] o (e} (e} «© [e0) <t Lo o o o ] o O O W © (] o o o o o o o (e} o o o (<o} (<o} Lo —
© N~ O — N~ ™ Q LO [ep] © Lo M o () (] <t Al O© O — [e0) (e} o O o Al Al «© «© o o o o [$p) N~ (<o}
MO —N|®S © o~ -1 @3 ®o 66—~ |—fes &= 9oLy 4S8 © S8y x®
() N IO 0| M M~ O O M~ N N OO &l O — O 10 uwWw — <t — N N — — 0 Lo o A M~ ©
M (@) [ee] (0] — < <t — — Lo (e8] [aN] Al [aN] — —
=
(o]
<J
=
z| m=z A=<
ol & ol ol ol B0 all B = = B0 ol 0 all all il
<t (@) Al Al — () * (ep) (@) () o (] * — (] [eN] N~ —
o X ox 8 2 x B = 5 X B 5 [0 ol O x x *
or 0 owomom Dow 3 o 0 o B o S ol § g > S
%0 S8 YT g8 058 9 S =g S g S : R T g
=l S o o e o S o 4] - KU = - IS} » S S ~ on
Sgggi88r8< 8 S ss e = omS L8 = 248
s ® I = ol < S F @ o) ol = o ol
2 o g3srbNa g ¥ e ] g o8 o &
- T R > 5 E ~
il - N~ s S W
“_”__n — — = KO Yol
= K] 0 o - 8
= K 80 _ — o
) © S ) 2 =
~ A_ — o = ™
- <+ 3 3 80 Ho
= o ok =
bl = I _
ol Uo 0 4 <+ .
= = IH ~ El 3
oF = = = KO
o Il k{0 M oD 5 D D H0
i = = G W w Ko
: ] = KF K0 A N P 2
Rl ) R IF i) 1o o _
RO o) ~ O O < © ©
- S 3 5
x =)
Ik

_26_




SN SYIIEHE
Y =Y )E2I(SEHLN/5Y - 5F)
©el SEZVY B IIEAY (2o &2
_ HE T
SN -3H - S2A(2AH) - NRAY - BE= Off & 2K Ofl At ot HusZ
SENEETIESY 4,800
~ERTH 2 YOS RN
120,000% 40CH 4,800
206 M2 bl 97,980 97,700 280
01 MZHl 97,980 97,700 280
OMZ=I2Y M27Y 50,000 105 +153] 7,500
O4S5E ¥ PFWSE HIE £ SHl7Y
10,0002 300 23] 6.000
OAS=sE 2 PEHSE 59479
20,0002 * 105 %203 4,000
ONEZZE 244 H27Y
9,000 1,000 9,000
ORMXZABL WE (32,42 S)7Y
50,0002 * 1635 *107H 8,000
OOMBISMES HETY 7,580
~ObA 23,0002 * 160 3,680
~x YA 130,002 +30E 3,900
OOFMBIS AT A 013 o X572
20,0002 %10 7| +30% 6,000
ORXEY HMEHA W27
10,0002 *402 *95] 3,600
OsJiHeslsel 28 ¢ 428 7Y
20,0002 *470% 9,400
O84Y VRS W27 36,900
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